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1 | KBRKBXKZE 1 25 79 330 55 45.9 1 | KERXBXZE 1 25 3 2 0 66.7
2 |MFERXE 1 29 824 370 83 44.9 2 |RERAMZKRBEAF Y U/RR| T 28 44 19 9 43.2
3 [ KERAMKREHAFT Y VR T 28 781 332 110 42.5 3 [RERERRKE 1 24 88 29 19 33.0
4 [R&EKRZ 7 29 789 326 67 41.3 4 | KIRTEKXZE 7 27 64 13 17 20.3
5 | KE 7 24 779 291 59 37.4 5 [P EEKE 7 29 44 8 12 18.2
6 | KBRFFRKE 7 24 749 262 92 35.0 6 |fBKE 7 24 15 2 0 13.3
T | RERITEXZE 7 27 888 306 94 34.5 1 |RAEBKZE 7 29 20 1 4 50
8 [MXEFKE 7 22 659 202 91 30.7 8 [mMXEFKE 7 22 6 0 2 0.0
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1 |[MEERAL 7 | 29 | 824 409 362 | 8 | 3m0 1 |mamks 7 | 2 62 2.14
2 [ RERAZKRZRARE Y URR[ T 28 781 42.5 313 19 332 2 |[KBRK&XKZE 7 25 51 2.04
3 [KERKBKZE 7 25 719 45.9 328 2 330 3 | RIRAMLKRFERAF Y V/RX| 1 28 43 1.54
4 |mEKE 7 29 789 41.3 325 1 326 4 | mMXEFKE 7 22 33 1.50
5 [KERITEXZE 7 27 888 34.5 293 13 306 5 | KE 7 24 35 1. 46
6 |fEEKE 7 24 779 37.4 289 2 291 6 (MR EREKE 7 29 4 1.4
7 | KBRFBRKRE 7 24 749 35.0 233 29 262 7T | KBRIZEXE 7 27 34 1.26
8 [mXEFKE 7 22 659 30.7 202 0 202 8 | KRR KRE 7 24 19 0.79
12y bHEYDTAYIRERHK (K) =BA-HEEY M
H—JWREK H—JL>—TmRIIE
< + < + 2 24
B = = % 3t |2
& _ v T 7 2 ES IIE _ Y =2 I Ih
i FoL& g |t = | 2| A | 2 # FoLbg A S I O I 2
% % 7 =4
1 |xEagAzrrrosz| 7 | 28 | 603 | 34 89 | 67 | 6.6 | |mEERAS 7 | 20 | 52 | 340 | 109 | 71 75.9
2 | KERKBXZE 7 25 595 21 90 50 5.2 2 | KRE 7 24 418 | 264 | 105 49 75.7
3 |REBKE 7 29 642 34 59 78 4.6 3 [RBRERBRKRE 7 24 494 | 283 | 125 86 69.9
4 | KIRTEKE 7 27 557 19 75 58 4.2 4 |REBKZE 7 29 498 | 275 | 145 78 69.8
5 |HPEEKRE 7 29 636 28 58 105 2.6 5 [ KR KB KZE 7 25 402 | 231 96 75 69.4
5 | KBRZFRKRE 1 24 475 16 51 66 2.6 6 [RERAIKFEAFYUNX| T 28 523 | 274 | 177 12 69.3
1 | KRE 1 24 537 8 54 36 2.3 7[RRI EKXZE 1 21 537 | 298 | 143 96 68.8
8 |mXEFKE 1 22 434 1 52 75 1.2 7T |mMXEFKE 1 22 459 | 254 | 124 81 68.8
H—IPER (%) =(H—EXI—ZAX100+3E x 25—k 8 x25) +3iTH Y—TLI—TRUE (%) = (B [E] x 100+ Ih [R] x 50) +$T#
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